Handout on Socrates on knowledge and virtue
I. Socrates’ conclusions on knowledge:

P1: If a person P knows s, then P has ___________ _____________ for s.

P2: Learning s involves coming to ____________________ s.

P1 and P2 imply:

C1: Learning s involves coming to have ___________ _____________ for s.

P3: If P has good reasons for s, then P can get ________________ ________  to see the good reasons for s.

P1 and P3 imply:
C2: If P knows s, then P can get ________________ ________  to see the good reasons for s.
C1 and C2 imply:

C3: If P knows s, then P can get someone else to _____________________ s.

And C3is equivalent to: 

C4: If P knows s, then P can _______________________ s.
II. Socrates’ goal and method: 

A. Socrates’ goal: Socrates’ goal in all of his conversations was to get ________________ about basic phenomena.  Examples of such phenomena are ___________________, knowledge, truth, __________________________, piety, the soul, and courage.  This is still the basic goal of philosophy today.  
B. Socrates’ method: 

1. Instead of proposing a theory of his own about such a phenomenon, he would ask his interlocutor to propose one.  Socrates would then pursue the “Socratic method” (elenchus, or “cross-______________________  ”) of asking ____________________  about this definition and its consequences.  Eventually, Socrates would show that there was something _______________________  in the original definition of the phenomenon.  Together, they would then try to ___________________  the definition or start again from ________________. 
2. There are several possible problems with an attempt to define something:
a. The attempt isn’t really a definition of the phenomenon at all, but just a list of ___________________ of it.  

(For example, Meno’s attempt to define virtue by giving examples of the virtues of men, women, children, slaves, etc.)
b. The definition is self-___________________.  

(For example, the priest Euthyphro’s definition of piety as “what’s loved by the gods”.  The problem here is that there are some actions that some gods love and others don’t.  Thus some actions are both ___________________ and ___________________.  This is a ___________________, and thus impossible.)
c. The definition applies to only a ___________________ of the phenomenon, and not the ___________________ thing.  

(For example, Meno’s definition of virtue as “the desire for good things and the ability to get them.  One problem with this definition is that someone isn’t virtuous if he gets something good – such as money – in an ___________________ way – such as by stealing.)
d. The definition is___________________.  That is, it contains the term to be ______________________ in the definition of the term.  This applies to Meno’s final attempt to define “virtue:” “the desire for good things and the ability to get them ______________________.”  Since justice is a ______________________, the definition includes the concept that it attempts to define.
III. Socrates on virtue:

A. What virtue is not (for Socrates): 
P1 (assumed for the sake of argument): “Virtue is ___________________”.  (Person P is virtuous if and only if P ___________________ what virtue is.)
P1 implies:

C1: If P is virtuous, then P ___________________ what virtue is.

P2: If P knows s, then P can ___________________ s to someone else.
P2 implies:

C2: If P knows what virtue is, then P can ___________________ virtue to someone else.
P1 and C2 imply:

C3: If P is virtuous, then P can ___________________ virtue to someone else.

C3 implies:

C4: If P is a loving parent and P is virtuous, then P can ___________________ virtue to someone else.
P3: If P is a loving parent and P can teach virtue to someone else, then P would teach virtue to P’s ___________________.

C4 and P3 imply:

C5: If P is a loving parent and P is virtuous, then P would ___________________ virtue to P’s ___________________.
A big problem:

P4: There are many examples of loving, virtuous ___________________ with non-___________________ (= vicious) children.  
Clearly, such loving parents ___________________ teach virtue to their children.  Thus ______ is false!  

Since _________ is false and is implied by P1, P2, and P3, at least one of these 3 premises must be ___________________.  Which one is it?

Socrates argues that P2 and P3 are certainly ___________________.  Thus _____ must be false.  Socrates’ conclusion: virtue is _______ knowledge.
B. What virtue is (for Socrates):
P is virtuous if and only if P does _______ ____________ that P knows what P ____________ _______ know.
Thus (just as in the Meno) knowledge is neither ___________________ nor ___________________ for virtue.

Instead, virtue – or at least the specific, and most important, virtue of wisdom – involves just awareness of one’s ___________________: not claiming to know something that I don’t know.
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